faut -B

derucl SR dotlot Dedte: 28/ a[25

ol WA 55 cliAlal Al Mot eseuol ues?A
AULRAGR Yrel
logoll (S3ect ot AR Yel As ([AAN Heacloll Y8l olol o120 B. a4 2024
YUl RAHL AAGR gHARIML @oLedl 30%ell aeld il B, BHi 32t A9,
RoHAR el (3(&loL Pell gHABA AMA U B, JRAct Bell A%RNML, %=UL siloll
AN HeAH GAON (SMEs) Amey reldutwtoll dvall psuell atll 28] B, @il vt
SHARA] AWM ay Rldlyets 8. GelerWl i1y, 20Ul wMELcles(l As
HLEoleAAUA 2500 SUoll WHHAR GHAMT GoLeldl Y 5S 3R Ule] of sLel
Aot 59 USY &f. PlwllAlotl U, el gHARD HIRe] Hul 5121 stololl UALR
Yellg] How ual 1o)(Aall el B,

L USSR tuotil RA{lal elRel ARSI 'Aglotcd AR RsARE WA 2023
UHAHL Y8l 8, Ful Eatell run B(Rect Acwa o 2029 Yl YR(Ed
ololtelclle] el oissl selHl uLeR] B, AL oIl 3601 sAls Aot WA §OIH ofGuxl
(A1) ot AR Wt W]l ascdl Rireratell Guallol crreHl uad. A o,
(Qansll A BY AlAGR YReloll ASAdAl HA Ueldol 5ol sl ot2ll, U
IR oll 210)(A A YRalHs cdel U Ned % wdlle] B, URll ASL &Y ool
Wiadall Gualol 52 B uudl vl St sy Uz GAs 52 ®, % ol Qul Aua
AURAGR YA MBS U0 el ololl o B

URACR gHARAlN yYellel HA 2slset YyRell o otell, URd WHIRS wal s 2R
URL A8l B, R Slotl s wiellell [QotAl ettt cuEAL

HIRA aglz 2itaanell AMuoflacto] Geeleot atat B, Fotl 5120 [Qau wua Yral
ol AuHHl ud 8. Qell el AR Yeu A AL Yetell As AdLRloll
o130 el %32 B, 2 W Rlawgl yeucllHi AneR Yrau Qnas e sl
UMLALL 5Cll ol olloll-HEHotl GELON Arcll dall USRS YReu Al Y3l
wisell w3l B, i, ARAGR Yrel A WA 25a0AYA Ul otell, Udq W s

Sl HELZ] ol (s RARALAl WA AR5t Y& B.

R AL URAAR gHARA dticllell Yyl 5111 9 B?
A) olol(] ARIGR YR8&lle] HLOWY Aal 2s19)(dall Aeldl.
B) olcll RSB el SMEs ofl B3suell e,

C) 6l Aot ol Al 25allcAlall AeLCL, |

D) #Rs1=6l o{llA2qo] 555 WHC.



9oLl Bell AWML URAGR FHE] BUH R 3 8?
A) 5128 ¥ = et Galoll B.

B) 5120 ¥ Ul SMEs wal 1SRt atll 28l 8.

€) 5120 ¥ Ul Se2ralz cuAel WS\ B.

D) 51201 ¥ URsRa{l o{ll 2ydl 8.

el WSl Gulol AlElal 3l AlA wR 53l o &2
A) Anell BR2ct Acudlell Guallol udl oub 8.

B) QRAL ALAGR AU HIZ AR @e clofl 23 B.

C) Axoll 2800 vleldat tatclle{l Astdl all B.

D) uR820(l AR Yt ol[Qulsll uuRsREA udl 43 B.

Ralotel AacR RsARE WAl 2023'A yaed 3q § &2
A) uldéemﬂu ARAGR AU UsSA.

B) c 2029 Yell i BRect Al Y& s2cll.

€) sdIRAA otlall stueL (A %9fct 524,

D) ettt G Well yraw yYu Y wscll

(Aot UH s AAeatell URAUR YRals] RS Hecl P Ul B?
A) ARAAR gHARDYL S2tef efstet el B.

B) A5l Hosofcl WS otell vl

C) WRAGR Y&l HoL 2500 UR Rl ol

D) ol Sloll cauEAdN A o Us{l2tcll S H5LL B

English Comprehension
Read The Passge and choose the most appropriate option ( Qs 6 to Q 10)
Artificial Intelligence, or Al, is a technology that allows machines to “think” and perform tasks

that normally require human intelligence. Many people already use Al in daily life, sometimes
without noticing it. For example, when you use a voice assistant on your phone to set an
alarm or ask for directions, you are using Al. Similarly, when streaming platforms suggest
movies or songs you might like, Al is working in the background.

While Al makes tasks easier, it can also raise some concerns. Some people worry that
machines may take away human jobs. For instance, if robots can do factory work more
quickly, companies may not need as many workers. On the other hand, Al can also create
new opportunities in areas like healthcare, education, and transportation. Doctors, for
example, use Al to study medical pictures and find ilinesses more accurately.

Experts believe Al is not here to replace humans, but to support them. If used wisely, it can
save time, reduce mistakes, and improve lives. However, people must also learn how to use
it responsibly so that the benefits are greater than the risks.



What is Al mainly described as in.the passage?

a) A type of robot only used in factories.

b) A technology that allows machines to act intelligently.
c) A computer used only by doctors.

d) A machine that replaces humans completely.

Which everyday examples of Al are mentioned in the passage?
a) Voice assistants and streaming recommendations.

b) Robot vacuum cleaners and self-driving cars.

c) Social media feed and face recognition.

d) Smart thermostats and email spam filters.

What is one concern people have about Al?

a) It makes cities louder.

b) It can take human jobs.

c) It increases reading habits.

d) It grows food faster.

What positive role can Al play in healthcare according to the passage?
a) Designing new medicines.

b) Making hospitals quieter.

c) Helping doctors identify diseases more accurately.

d) Replacing nurses completely.

What can be inferred about the future of Al from the passage?

a) Al will control all human decisions

b) Al will disappear soon.

c) Al has both risks and benefits depending on how it is used.

d) Al will only be used by students.
Which organization became the first Indian NGO to win the 2025 Magsaysay Award?

202501l RoAA Y512 Welottx yauH eldla [Aat-urs13] e (NGO) 56 B2
A) Pratham -- YUy

B) Educate Girls - %32 el

C) Smile Foundation — ¥ $1God3Uet

D) Teach For India -- Al 512 Shdal

Who has been appointed as the IMF Executive Director for a three-year term starting
August 28, 20257
28 312, 20250l 23 Ucll 2R el slRlslA W2 IMFoll WDl al (33522 133

Sl [Aaysel saUMl R 87

A) Arvind Subramanian --- wR(de Yo HRAH
B) Raghuram Rajan -—-  YUH A%el

C) Shaktikanta Das —  l(5<isicl €1

D) Urjit Patel - Gl¥d e
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What is the name of India’s first fully indigenous 32-bit microprocessor developed for space
missions?
uaslal Matet {2 @AsAutctcuml A etRdsll yauu Ayel el 32-ofle

HIBS U AMR ollH g B?

A) Bharat-Chip X - @R - X

B) Shakti-2100 -- 2U(5<1-2100

C) Vikram-3201 - [A54-3201

D) Aryabhata-2001 - wl2lelg-2001

Who is the owner of Google?
dpletall HAs slaL B2

A) Sundar Pichhai - €3 QU

B) Alphabet Inc - ACHLAR Ba

C) Elon Musk - 2Acllel 3§

D) Mark Zuckerberg --- wh Q}SQO{OT

Who developed and manages the Unified Payments Interface (UPI) in India?
HRAHL YAH8Ss Aoz Bo2FAU (UPI) 518 [AsLcR] U AU 53 B?

A) National Payments Corporation of India -—- AQlolE Qﬂ.aﬁ\'ﬂ slURalot s (b2l
B) Reserve Bank of India — (323 dls 3g SSdaul

C) State Bank of India — @2 &5 g >l

D) Phone Pe - §lol Q

Who has been elected as the 15th Vice President of india?
ARcloll 15HL GUARUQ ARy Blal Ygaui e B?

A) Jagdeep Dhankhar - %9LElU YolWS

B) Justice Sudershan Reddy - s2ll2lltllet oll. Yeolat 2§
C) Venkaiah Naidu — cl¥2ll ollads

D) CP Radhakrishnan - {L UL AtUEWIet

In which city was the SCO meeting held?
sco HlRot sau adul Awe &cll?

A) Tianjin — (QRUeU(Rat
B) Beijing -—- A8l

C) Shanghai - 2U&ll2
D) Astana --- Acllell
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What was the name of the mission that carried Shubhanshu Shukla to the International
Space Station in 20257

20251 geliy Ysel iRl BcdRet 1as (1s5) YLl e AAl Reloto] otin

9 &q?

A) Gaganyaan --- Il3lel2{lol

B) Chandrayaan-3 - Ualei-3

C) Axiom Mission 4 - V[(EA2AH [Ralat ¥
D) Artemis | -— BUSMY |

What is the full form of MOM in the context of India's space program?
AURcloll Aastal stlsHoll AeelHl Mom of yal azu g 82

A) Martian Orbital Mission - HU[2[2let 2(eect Metet
B) Mars Observation Mission --- H vlleosclatet Malet
C) Moon Orbiter Mission - Hol 0(ele? Ratel

D) Mars Orbiter Mission - HId{ 2{clz? Rl

What was the name of the mission launched to rescue Indians from Ukraine during the
2022 crisis?

2022 ol ¥s2e eMallet Y3otiiell ARl slaaal HER 243 $AAE Ratole] i g
&d?

A) Operati‘on Vande Bharat - 3UR%tet At lRct

B) Operation Maitri --- BURelet 1Al

C) Operation Ganga - ¥ UR2let d(dU

D) Operation Devi Shakti - ¥lluR3lot & cfl 25l

Which type of bill cannot be returned by the President for reconsideration after being
passed by Parliament?

AUE gL UAR &AL ugfl U@ sl YsRell [QBas yYollduR w2 urd Mscll
Ascl oledl?

A) Appropriation Bill --U{Ojl-nﬁai @ct

B) Ordinary bill -UHe2 (@At

C) Constitutional Amendment Bill--o{eREllL Yl (At

D) Money Bill - slQU{0lct

Which Commission was set up to review Centre-State relations in India?

@R ol Fon-2%e Aoldloll Aullen scll HERZ 58 WALl UL sclHL vUll 6cl?

Options:
A) Sarkaria Commission--—-3R slFauL w0t

B) Punchhi Commission --ge?.ﬂ eI
C) Mandal Commission-—-HSG 121191
D) Kelkar Commission-—5G52 201
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What does the Preamble of the Indian Constitution signify?
aRdlal elutrelell ydtaou g eald &2

A) Division of powers between centre and states-- Son ol AU AR %lﬂlbnd
(Qetteset

B) Powers of the President—-?lbau[acﬂ Al

C) The goals and aspirations of the people of India--GlR cloll olclloll Clal Wal
vistall

D) Guidelines for foreign policy-(AZ gt o{l[Q Hi2etl HLoleH

How many categories of Fundamental Rights are outlined in the Indian Constitution?

el oitzeHl Hoed AURSsRL Sacll Al ealaaui sud 82
A) Five---ul

B) Six-—¢9

C) Seven---dlcl

D) Eight-—-3l6

Unlike Fundamental Rights, why are Directive Principles of State Policy not enforceable by
courts?

A%l ollAotl RE2s Rsicll, yagd wU@sAL @Quld, su2u1c gil 2l 1R

9] 531 ascl o2l

A) They are guidelines, not legally binding---
A Hledls oA B, stofell A curausi3l «iell

B) They are outdated principles---a el Reldl B

C) They apply only to states, not the Union—
A §5cl A2 o] U B, Fosal oldl

D) They require parliamentary approval-—-al d€o{l {3l %33 &

Who admi\nisters the oath of office to the President of India?
AlRctell A UlA e sl sclell quy Slo Huwa B2

A) Vice President--- GW 21 uld

B) Prime Minister-—- cLSL Ytlleal

C) Chief Justice of india--- GllRclell Hul st ellal
D) Speaker of Lok Sabha--CUS™G{lell W LA&L

What is the minimum time period required for public notice before introducing a
Constitutional Amendment Bill in Parliament?

duenl olurglla YuRl [A2s 29 sl USEL 3R ARU MR ofotclH AHANA
secll &lcl AsA?

A) One week - A5 UsclllR

B) Two weeks --- ol UsculSa

C) One month --- s H(@all

D) No notice required -—- 51¢5 aQl@Uo{l %32 o8l

How is the Vice President of India elected?
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How is the Vice President of India elected?

@Rl GuRRUQell el 3l A awa &2

A) By the Lok Sabha only--$5c CLSAGL gL

B) By an electoral college of both the Houses of Parliament--{ ¥ €all olol Dl@dl z{ataw
HeAloll feull Hso gLl

'C) By the Rajya Sabha only---§5cl A¥ACU gl

D) By the President-—2%u{d gl2L
Who among has the power to commute the death sentence of a convict in a State?

AAHL EW L calseloll sl uxal tatsaoll vt Slofl W &2
A) Ministry of Law and Justice-—-S{2LEL Ual oAl HAUERL

B) The Chief Minister-—-Hu2(3{>(l

C) The Governor---L%2ULEH

D) The Chief Justice—3u2l c2lt2dlt[lat

Which constitutional body is responsible for auditing government expenditure?
AlRctofl 58 AQtuls el URsReAl WALl AsuQll s @AMRs wACA B?

A) Comptroller and Auditor General of India (CAG)—- @R cloll AU Wl 3323 welc
(CAG)

B} Finance Commission--—dellé’lel s(Mlatet

C) Union Public Service Commission---q@.ud uoas Al s@atet

D) Election Commission of India-—-?-}'\alaﬂ%{lmat



CHARUTAR VIDYA MANDAL'’S
Vithalbhai Patel & Rajratna P.T. Patel Science College
(Autonomous)
Vallabh Vidyangar
Laboratory Assistant Written Examination
Part-B (Series: C)
Subject: Chemistry/ Industrial Chemistry (PART-B Q.31 TO 150)

Date: 28/09/2025 Time: 120 Min Marks: 120
Candidate Sign: _ Seat No:
31 Which of the following property of | 39 tllell oflAetiniiell s ot B R

32

33

34

metals to be beaten into thin sheets?

a) Ductility

b) Malleability

c) Tensile strength
d) Hardness

What is the importance of alloying
metals? :

a) To increase strength and corrosion
resistance
b) To make metals more brittle

¢) To decrease conductivity always

d) To increase density only

Which of the following metals are
used in manufacturing of Nichrome?
a) Ni, Al, Fe

b) Ni, Zn, Cu

c) Ni, Pb, Sn

d) Ni, Cr, Fe

Which of the following brown flaky
substance formed during corrosion of
iron?

a) FE(OH)Z

b) FesO.
C) Fe:0:-xH-0
d) FeCls

3R

313

3%

utcofl el 32 atstar

) o153l

o) oYl

8) cigL Al

5) 5(3otclt

tgullal BBl sRello] Hecel g B?

) HEALS Al 5t2 UldsR ata

o) tillal dY KRS olellelell 3
5) 8R2ll UGSl LS M2

5) 85l totcll clball M2

RASMett  Geulgatti ol Aotmisl
UcRAlell Gualol u &2

) Ni, Al Fe

) Ni, Zn, Cu

§) Ni, Pb, Sn

S) Ni, Cr, Fe

clluisell ste e:latet oflAstniel s ozt
20lell A4l ueLd ool B?

¥{) Fe(OH),

W) Fe;0,

§) Fe205-xH.0
S) FeCl;

£19)
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Which of the following material is
commonly used as a corrosion
inhibitor in  cooling  systems?

a) Chromates and phosphates
b) Alcohols

¢) Paraffin wax

d) Sugars

Which of the following type of
cement is commonly used in
construction?
a) Slag cement

b) Portland cement
c¢) Pozzolanic cement
d) High alumina cement

Why Gypsum is added in to the
cement?

a) Because it can increase strength
b) Because it can reduce density

c¢) Because it can provide color

d) Because it can control setting time

The temperature in the clinkering
zone of a rotary kiln s
about

a) 800-900 °C

b) 10001200 °C
¢) 1400-1500 °C
d) 1600-1800 °C

Which of the following reaction can
causes the setting of cement?

a) Hydration of silicates and
aluminates
b) Dehydration of gypsum

c) Evaporation of water
d) Oxidation of calcium

34

3s

39

3¢

ollActimiell sl ueledoll Guallal UM
Aad éss youellAui sie AaRus d3l3
a 8?

) sl Aal glaked

ol) AL

5) QRLl5et Hle

S) Wis

ollustHMl saAl ysRell RARal Gualot
UM A e B?

) A RAAe2

ol) WEAes RN

5) WaRAls @A

5) G ARl ANo2

RAceHl B 3u GRReuxl 2d ]?
Aoz i i 31 GRRaM wd 8?

) 510 3 A 1ol audl o B

o) S1R0L & d Yol welsl 2 8

5) 51”01 ¥ A 9L Yelot s a3 B

s)siReL 3 d Aot yHax A 53l 23
]

A2dl aglell  GAsREor
GoLeLoL 2]

Rl clluHlel

) 800-900 °C

) 1000-1200 °C

§) 1400-1500 °C

S) 1600-1800 °C

AAsiniel s8¢ yla ANceetl ARolof
siReL ololl 23 &2

U) A@A¥2 ol AeyM2q] sl8ele

o) W] [ellsel
5) wellef oumfletatet
5) 3(R2tuo] WNEA3 Aot
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Which of the following is the main
advantage of RCC over PCC?

a) Less cost

b) Higher tensile and compressive

strength

¢) No need of curing
d) Easy to dismantle

Which type of polymers softens on
heating and can be remolded?

a) Thermosetting

b) Cross Linked Elastomers
¢) Elastomers

d) Thermoplastic

Which of the following initiator used
in free radical polymerization of
ethylene?

a) H2S04

b) NaOH

¢) Benzoyl peroxide

d) HCl1

Which of the following is added
during Vulcanization of rubber?

a) Sulphur

b) Carbon

¢) Oxygen

d) Nitrogen

Which of the following materials are
used in manufacturing of Bakelite?

a) Urea + Formaldehyde

b) Phenol + Formaldehyde

¢) Terephthalic acid + Ethylene glycol
d) Caprolactam

Which of the following is a non-
biodegradable polymer?

a) Starch

b) Cellulose

¢) Polyethylene

d) Proteins

¥0

¥1

¥R

¥3

¥Y¥

¥4y

lall (pcC) st 2R (RCC)oN 3yt
stat€l ol Aotuiell s &7

) el Bt

o) dy cllQL A AR AR

5) s2AFotell %32 atell

s)uacel AL asia B

s2il yslRell QAHR 21RM Ucll UR oM U3
B ua Aa s3lell olottcll asta B?

) AR

o) Sl @ss scuRHd

5) SR

s) wdlvclRR s

@l Ysayes  WAHABI
(lAounigll sA sRRAR aurla B?

) H,S0,

ol) NaOH

5) AolAA URASUES

5) HCl

201201l ccallRelet eRaot ol Aetiuisll
53] GRRaMl 2ud &?

) ACHR

ol) stolet

5) VAt

5) sllesglosel

Asclsesll Gaulgetdl ol Aouniel s
yelelell Guzllol e 8?

) YRaw + fuledletss

o) Bellet + Suieslalss

5) 22W0@As AR + @A cuaRA

5) 3ulAdse

Al 53 Qet-Raluesien VAR
?

) et

o) ARIALR

5) W@s@Ast

) Wélat
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Which type of error occurs if a
balance is not calibrated?

a) Gross error

b) Personal error

¢) Random error

d) Systematic error

Why Taring in a balance is carried
out?

a) Because of weighing with container
weight

b) Because of setting weight to zero
before sample measurement

¢) Because of adding extra weight

d) Because of recording average value
What is the main purpose of quality
control (QC) in pharmaceuticals?

a) Product design

b) Drug pricing

c) Regulatory approval

d) Testing and inspection

Which of the following is related to
ISO 9001 standards?

a) Production safety

b) Marketing systems

¢) Quality management systems

d) Cost analysis

Which of the following is true for
Validation ensures?

a) Accuracy and reliability of a
method
b) Cost effectiveness

¢) Faster analysis

d) Better yield

Which of the following is true for
LOD (Limit of Detection) measures?
a) Smallest detectable quantity

b) Highest measurable concentration
¢) Median concentration

d) Average sample size

¥S

¥9

¥C

¥e

Yo

yq

A Adetet WUBd of fa A sa ysizel]
YA w82

) H¢ (Gross) Yel

o) (5091t (Personal) dlql

8) AERDs (Random) elct

5) AdRAd (Systematic) ¢t

3L (Taring) ALY AUHIUHS S M AD?

W) Se2elRoll clogol A clogel s2cUa 5120

G) oifoll UUot UsEl awel 9ot wR Az
scllal 510 '

§) dLdlRe] %ol GRRCUA 51RQ)

§) AR Het QS s S1RQL
slRRscunl oatart Reisel (qc) o
Hu &g 9 B?

) Geulgot (385t

o) gcioll Bud

5) [Llasetstdl 2yl

$) uflagl ua Rdael

Aeuniell 53 150 9001 26N WA el
8?7

) Beuleat dctHdl

o) WBRat youella

§) ARttt et R Uol yeuelul

) w3 (AeAngy

AAetiaiell 52 o2ctt v (Validation)
HIS WY B?

) ug(Aell s18 wA RQuaollercy

o) W] UABRS AL

5) 35Ul (Qewg

s)ay Wil Guo

AQeuniel 53 Lop (Auell Halel) wy
HE Wy B?

A) Well ottoll M auster A oy

o) el ay el astet A wisay

8) U2 Uiaclt

§) UL ol¥sllof 5
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Which of the following refers to
Robustness?

a) Reproducibility across laboratories
b) Accuracy in low concentration

¢) Ability to remain unaffected by
small variations in conditions

d) Repeat trials with same analyst
Which of the following is used to
check the purity of the solvent?

a) Hardness

b) pH value

¢) Color test

d) Refractive index

What is the main use of Volumetric
flasks?

a) Storing chemicals

b) Measuring accurate fixed volume
¢) Heating liquids

d) Filtering solutions

Which of the following is preferred

cuvette material, for very low
absorbance measurement?

a) Plastic

b) Glass

¢) Quartz

d) Aluminum

Which of the following error occurs
due to faulty apparatus?

a) Systematic error

b) Random error

¢) Gross error

d) Personal error

Which of the following is sample
representing the whole population?

a) True sample

b) Representative sample

¢) Random sample

d) Homogeneous sample

U

U3

uy

uy

us

U

o Aatrisl 520 2ce UFGASA Aeal
8?

1) YA2LOURNHL YelZULE Scll

ol) A Algcil AsAEY

5) UBRARRNML ottelt 32512l wyeuldd
&clioll &lHcll

5) As o QeAus WA cdRar udlacl

A Aotmiell 53 slaisell Yael dutal W2
GUAHL Qe 1A B?

) et

o) pH H

5) 231 uilaw

s) aleidet uis (Al Bd5U)
ANRs seirssl yuu GuAlal g B?

) RAULARN HdLecl

o) WssH ABA s€ Hual

8) slctslol JRH 5R¢ll

5) stetdllal auoell

viol o el QgL sl HE ol Aateiell
59 sqde HRRuA urle srauml 2 B2

) RS

ol) sl

5) selE%

s) AMAun

wellysd Gus21l sRQL ol Astiiell 58
Qe wR

) CPJ.Q@d@iGt (Systematic error)

o) A ERBD 5 A (Random error)

5) &G (Gross error)

S} Cﬂ@bld@i& (Personal error)

ol dotinioll s3] umaL ueld/Bsge] Wy
YRR« sl otyell B?

) ALY otyell

o) yRE ot3gell

) ALERBDSs oligell

S) AHPAUAG (AHLeY) otyfell
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Which of the following can minimize
Random error?

a) Using high concentration

b) Ignoring outliers

¢) Reducing cost

d) Repeated trials and averaging
Which of the following equation is
expressed as Molality?

a) moles solute/kg solvent

b) moles solute/L solution

¢) grams solute/L solution

d) moles solute/mlL, solution

Which of the following is used to
remove moisture from  glassware
before weighing? They are kept in

a) Refrigerator
b) Oven

¢) Incubator
d)Desiccator

Which of the following calculation
done by The Henderson—Hasselbalch
equation?

a) lonic strength

b) Buffer Ph

¢) Titration error

d) Indicator range

Which titration involves the use of
starch as indicator?

a) Cerimetry

b) Complexometry

¢) Iodometry

d) Mercurimetry

Which type of estimation is catried
out by Karl Fischer titration?

a) Amines
b) Nitrates

¢) Water content
d) Peroxides

L4

e

18]

SS9

SR

53

A Astiellsejau g Esee (Random error)
uaLsl ad 8

) QAL UGLAA GudL 524
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Which elementary estimation is
carried out by Kjeldahl method?

a) Sulfur

b) Nitrogen

c¢) Phosphorus

d) Oxygen

Who was proposed the Law of Mass
Action?

a) Guldberg and Waage

b) Ostwald and Nernst

¢) Arrhenius

d) Van’t Hoff

Which of the following is true for
Solubility product (Ksp) is definition?

a) Product of molar concentrations of
reactants

b) Product of coefficients
¢) Product of ionic charges

d) Product of molar concentrations of
jons raised to their stoichiometric
powers

Which  process
precipitation?

reduces co-

a) Rapid precipitation

b) Digestion of precipitate

¢) Use of cold solution

d) Addition of excess precipitant

Which of the following is ensured in
gravimetry during drying or ignition
of precipitate?

a) Removal of impurities and water
b) Increase in solubility

¢) Faster weighing
d) Complete crystallization
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Which of the following is a desirable
property of a precipitate for
gravimetric analysis?

a) Colloidal form

b) Very soluble in water

c) Easily filterable crystalline form

d) Hygroscopic

Which of the following is the main
limitation of gravimetric analysis?

a) High cost of reagents

b) Cannot be applied in pharmacy

¢) Requires special instrumentation

d) Need for very pure reagents and
careful work

Which of the following are the
products of homolytic fission of an
organic compound?

a) Free radicals

b) Carbocations and carbanions

¢) Neutral atoms
d) Carbenes

Which of the following is an example
of a nucleophile?

a) BFs
b) AICIs
¢) H:0
d) NO,*

Which of the following is the correct
order of reactivity in an Sx! reaction?

a) 1°>2°>3°
b)3°>20>1°
¢)CHs>1°>2°> 30
d) All are equal
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75
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77
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Which type of stereochemistry is
observed in an SN2 reaction?

a) Racemization

b) Retention

¢) Mixture

d) Inversion

Which of the following catalysts is not
used in the Friedel-Crafts acylation
reaction?

a) H>S0:
b) FeCls
¢) AlCl;
d) BFs

Which of the following is the correct
IUPAC name of isopentane?

a) 2,2-Dimethylpropane
b) 3-Methylbutane

c¢) Pentane

d) 2-Methylbutane

Which of the following materials is
used in the Wurtz reaction?

a)Zn

b) Na metal in dry ether
c) KOH

d) H2504

Which type of isomerism occurs in
alkanes mainly due to structural
variation?

a) Position isomerism

b) Functional isomerism
¢) Chain isomerism
d) Tautomerism

Which of the following is an example
of a natural alkane?
a) Ethylene

b) Acetylene
¢) Methane
d) Benzene
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81

82
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84

Which is the major product formed
during the monochlorination reaction
of methane?

a) CH5Cl

b) CH:CLz

¢) CHCls
d) CCls

Which of the following rule is applied
when HBr is added to asymmetrically
substituted alkenes in the presence of
peroxide?

a) Markovnikov’s rule

b) Anti-Markovnikov’s rule
¢) Hofmann’s rule

d) Resonance

Which of the following chemical is
used in Baeyer’s test for unsaturation?

a) Bromine water

b) H2SO04

¢) Os gas

d) Cold alkaline KMnOs solution

Which of the following compounds
are obtained when alkenes undergo
reaction with ozone gas?

a) Ketones and aldehydes
b) Alcohols

c) Acids

d) Esters

Which of the following compounds
are mainly obtained when alkenes
undergo hydroboration—oxidation
reaction?

a) Aldehydes

b) Ketons
¢) Esters
d) Alcohols
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86
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How many o bond and  bond present
in ethene molecules?

a) One o bond and one 7 bond

b) Five ¢ bond and one © bond

¢) Two 7 bonds only

d) Four o bond and one = bond

What are the products formed when
alkynes  undergo  hydrogenation
reaction with Hz gas in the presence of
Lindlar’s catalyst?

a) Alkanes

b) trans-Alkenes
¢) cis-Alkenes
d) Alcohols

Which of the following compounds
are obtained when alkynes undergo
reaction with ozone gas?

a) Ketones

b) Carboxylic acids

¢) Alcohols

d) Alkanes

Which of the following is the correct
TUPAC name of CH3—C=CH?

a) Propyne

b) Propene

c) Propane

d) Ethyne

Why do alkynes exhibit acidic nature?
a) Presence of @ bonds

b) High bond strength

c) High electronegativity of sp-
hybridized carbon

d) Resonance

Which of the following products is
formed when ethyne reacts with HC1?
a) DiChloroethene

b) Dichloroethane

¢) Chloroethane

d) Vinyl chloride
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Which of the following laws of
thermodynamics states that if system
A is in thermal equilibrium with
system B, and system B is in thermal
equilibrium with system C, then
system A is also in thermal
equilibrium with system C?

a) First law of Thermodynamics

b) Zeroth law of Thermodynamics
¢) Second law of Thermodynamics
d) Third law of Thermodynamics

An internal
function.
a) Path function

b) Work function
c) State function
d) Not defined

Which of the following statement is
true for 2 law of thermodynamics?

energy is a

a) Heat flows spontaneously from hot
to cold

b) Heat flows spontaneously from
cold to hot

¢) Work is equal to heat

d) Internal energy is conserved

Which of the following statement is
true, for change in entropy for an
isolated  system undergoing a
Spontaneous process?

a) AS <0

b)AS=0

¢) AS is constant

d)AS>0

Which of the following equation is
represents the mathematical form of
Kirchhoff’s equation?

a) d(AH)/dT = ACp

b) d(AH)/dP = AV

¢) d(AS)/dT = ACp/T

d) d(AU)/dV = TAS
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Which of the following statement is
true for Qualitative analysis?
a) Measurement of concentration

b) Detection of elements or functional
groups
¢) Measuring physical properties

d) Chromatography only

What is the application of
Crystallization operation?

a) Identification of substance
b) Separation of liquids

¢) Purification of solids

d) Measuring density

Which of the following functional
group can be detected by brown ring
test?

a) Sulphate group
b) Carbonate group
c¢) Chloride group
d) Nitrate group

Which type of study can be carried
out by Conductivity Measurement
experiments?

a) Titrations of acids and bases

b) Turbidity
¢) Melting point
d) Crystallization

In UV-Visible spectroscopy,

a) Rotation of molecules

b) Vibration of molecules

c) Electronic transitions

d) Ionization

Who was discovered the Neutrons?
a) J.J. Thomson

b) Rutherford

¢) Niels Bohr

d) James Chadwick
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Which of the following mathematical
form is true for Energy of radiation?
a) E = mc?

b)E=hv

c¢) E=hv/A

d) E=hNv

Orbitals are differing from orbits.

a) Because it represents Fixed paths
b) Because it represents the nucleus

¢) Because it represents Circular
motion of electron

d) Because it represents Regions of
high probability for finding electrons

Which of the following rule or
formula is used to calculate Maximum
number of electrons in a shell?

a) n?
b) 4n?
¢) 2n?
d) n®

Which of the following statement
represents the Pauli’s Principle?

a) Two electrons in an atom cannot
have the same set of four quantum

numbers

b) Electrons occupy lowest energy

orbitals first

c) Orbitals fill singly before pairing
d) Electrons revolve in circular paths

Which of the following is true for the
modern periodic table based on the
arrangement of elements?

a) Increasing atomic mass

b) Increasing atomic number
¢) Decreasing atomic radius
d) Alphabetical order
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Which of the following block
elements are also known as transition
elements?

a) s-block elements

b) p-block elements
¢) d-block elements
d) f-block elements

Atomic radius across a period from
left to right is

a) Increases

b) Decreases

¢) Remains constant

d) First increases then decreases

The value of electron affinity for
noble gases is

a) Zero

b) Very high

c) Negative

d) Infinite

Which of the following is the most
electronegative element?

a) Oxygen

b) Nitrogen

c) Chlorine

d) Fluorine

Why Actinides elements
variable oxidation states?

show

a) Participation of 5f, 6d, and 7s
electrons

b) Only 7s electrons

¢) Only 6d electrons

d) Only 5f electrons
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The color of actinide ions is mainly
because of

a) Electronic Charge transfer

b) f-f electronic transitions

¢) s—p transitions

d) Crystal defects

When Actinide undergoes contraction,
a result is in?

a) Increase in atomic size

b) Constant atomic radius

¢) Decrease in atomic and ionic size
across the series
d) Irregular atomic volume

Which of the following material is
commonly used as moderator in
nuclear reactors?

a) Sodium metal

b) CO-

c¢) Helium

d) Heavy water (D20)

When the comparisons of an actinides
and lanthanide is carried out, an
actinides shows

a) Fewer oxidation states

b) More variable oxidation states
¢) No oxidation states

d) Only +3 oxidation state

Which of the following chemicals are
used to prepare Nitrobenzene from
Benzene?

a) Conc. HNOs + H,SO.

b) NaNO: + HCI
¢) HNO:s alone
d) NHs + O,
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What are the of Nitro

compounds?
a) Solvents only

uses

b) Sweeteners

¢) Fuels & explosives

d) Fertilizers

Which of the following statement is
true for nitrogen atom in amines?

a) sp? hybridized with no lone pair

b) Purely ionic

c) sp? hybridized with lone pair

d) sp® hybridized with lone pair

What is the conversion of Hoffmann
bromamide reaction?
a) R-NO: — R-NH:

b) R-CONH:z — R-NH:

c) R—-OH — R-NH:

d) Ar-NO: — Ar-NH:

What is the use of Hinsberg’s test?

a) Distinguish 1°, 2°, 3° alcohols
b) Distinguish 1°, 2°, 3° alkanes

c¢) Distinguish 1°, 2°, 3° amines

d) Distinguish cis & Trans alkenes

Which of the following products is
obtained, When an acylation reaction
of amines is carried out with acid

chlorides?
a) Esters

b) Alcohols
c) Aldehydes
d) Amides

At which position aromatic amines
undergo electrophilic aromatic
substitution reaction?

a) On ortho & para positions
b) On meta position

¢) on benzyl carbon

d) None of the given
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124

125

126

127

For the preparation of Diazonium
salts, which of the following statement
is true?

a) Reaction of primary aromatic
amines with NaNO. + HC] (0-5°C)

b) Reaction of secondary amines with
HNOs
¢) Reduction of nitrobenzene reaction

d) Hoffmann bromamide reaction

In Gattermann  reaction replaces
diazonium group
with

a) OH group

b) Cl or Br group using Cu powder +
HCI/HBr

¢) NO: group

d) COOH group

The  industrial importance  of
diazonium salts is mainly in
manufacturing of

a) Explosives

b) Fertilizers

¢) Dyes and pigments

d) Detergents

Who is the father of modern forensic
science?

a) Francis Galton

b) Alphonse Bertillon

¢) Edmond Locard

d) Hans Gross

In which city of the India, the first
police crime laboratory was set up in?
a) Delhi

b) Kolkata

¢) Hyderabad

d) Agra
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129

130

131

132

Which of the following deals with
identification through skeletal
remains?

a) Forensic Anthropology

b) Forensic Odontology

¢) Forensic Ballistics

d) Forensic Physics

From where Crime scene investigation
starts?
a) Collection of evidence

b) Court presentation

c) Arrest of suspect

d) Securing the scene

On which bases the reconstruction of
crime events is carried out?

a) Witness accounts only

b) Police records

¢) Scientific principles applied to
evidence
d) Assumptions

Which evidence is considered most
reliable in courts?

a) Eyewitness testimony

b) Scientific forensic evidence

¢) Police statements

d) Suspect confessions

Which of the following is associated
with Cyber forensics?

a) Crimes using digital devices

b) Explosives

c) Poisons

d) Firearms
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134

135

136

137

Which technique is not used in
forensic chemistry to analyze
explosives?

a) Gas Chromatography

b) Mass Spectrometry

¢) Thin Layer Chromatography

d) Thermo gravimetric analysis
Which of the following is related with
the term “ballistics” in forensics?

a) Blood group analysis

b) Explosives only

¢) Bullet and firearm study

d) DNA fingerprinting

Which among these is a class
characteristic of a weapon?

a) Number of lands and grooves

b) Unique scratch marks

¢) Individual wear and tear

d) Fingerprint on trigger |

Principle of analysis of stresses that
results must be

a) Personal opinion
b) Subjective

c) Based on reproducible scientific
methods

d) Doubtful
The “Golden Hour” in forensic
science  refers to .

a) Time before court trial

b) Early stage of investigation when
evidence is best preserved

¢) Morning time for crime scene visit
d) Duration of autopsy
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139

140

141

142

Principle of Locard is important
because of

a) Witnesses are unreliable

b) Crimes cannot be solved without it
¢) Police rely on it

d) Criminals always leave and take
evidence

Importance of forensic toxicology
related to

a) Detects poisoning

b) Identifies drug abuse

¢) Assists autopsy findings
d) All of given

Which of the following statement is
true for forensic reports?

a) Reports must be Scientific,
accurate, and unbiased

b) Reports must be Favorable to
prosecution

¢) Reports must be Favorable to
defense

d) Reports must be Speculative

Who is the father
biochemistry?

a) Antoine Lavoisier

b) Watson and Crick

¢) Justus von Liebig

of modemn

d) Louis Pasteur

Structural
focuses on

biochemistry  primarily

a) Anatomy of humans

b) 3D arrangement of biomolecules
¢) Ecology of microbes

d) Agricultural yield
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144

145
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147

In which field of Agricultural
biochemistry helps?

a) Crop improvement and fertilizer
development

b) Astronomy research

¢) Weather prediction
d) Physics experiments

Which of the following is an
important  of biochemistry  in
medicine?

a) Studying stars

b) Rocket science

¢) Understanding disease mechanisms
d) Building materials

Why PubMed is a popular source?

a) Because it can be usefor Historical
documents

b) Because it can be use for Physics
equations

¢) Because it can be use for
Engineering data

d) Because it can be use for
Biochemical research literature

The property of interconversion
between a- and B-forms of glucose in
solution is called

a) Tautomerism
b) Mutarotation
¢) Polymerization
d) Hydrolysis

Which of the following functional
group can be reduced by Tollen’s
reagent in Glucose?

a) A keto group

b) A free aldehyde group
¢) A free ketone and aldehyde both
d) No functional group
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148  Which of the following disaccharide | 1¥¢ ollsumisll 53 s AsAss  ollot-
is non-reducing? RsyRo®?
a) Maltose ) HIE%
b) Lactose o) Asel
¢) Sucrose 5) Y510
d) Cellobiose 5) AL
149  Which of the following two| a¥e Rlui olldotniel s A uzsl &R &
components are present in the starch? Y
a) Amylose and Amylopectin ) BHRAAD wA AURA DA
b) Cellulose and Hemicellulose o) ARADS ol SR AYAR
¢) Chitin and Amylose 5) RRet ol AR
d) Amylopectin and Chitin $) ARAAAsE A wal ARt
150  Which of the following test is used to | auo uft welsdl (RsyRblgorR) Aual =2
detect reducing sugars? lAetiosl sl udlew(22) ol Gualal
YA 87
a) Biuret test ) ollzygRe uilaglee)
b) Iodine test o) WAB ot udlawie)
¢) Molisch test 5) Qe ullawgze)
d) Benedict’s test 5) AABseall udlawL(er)
(Space for Rough Work)
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